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QUESTION 1

Which option is the preferred and most versatile model to deploy IPv6 in existing IPv4 environments? 

A. hybrid 

B. service block 

C. dual stack 

D. processes 

Correct Answer: C 

 

QUESTION 2

Which two options improve BGP scalability in a large autonomous system? (Choose two.) 

A. route reflectors 

B. route redistribution 

C. confederations 

D. communities 

Correct Answer: AC 

 

QUESTION 3

Which option describes the purpose of the auto-cost reference bandwidth 10000 command under the OSPF process? 

A. Recognize redundant 10 Megabit links. 

B. Differentiate cost on a 10 Gigabit Ethernet trunk link. 

C. Change the default bandwidth for a 100 Megabit link. 

D. Adjust the link bandwidth for routing protocols. 

Correct Answer: B 

 

QUESTION 4

The direction of the flow of multicast traffic is based on which protocol? 

A. PIM 

B. IGMP 
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C. underlying IGP 

D. MSDP 

Correct Answer: C 

 

QUESTION 5

Which route summarization most efficiently reduces perceived network complexity that is composed of subnetworks
ranging from 172.16.20.0/24 to 172.16.36.0/24? 

A. 172.16.8.0/21 

B. 172.16.8.0/19 

C. 172.16.20.0/20 

D. 172.16.0.0/18 

E. 172.16.20.0/19 

Correct Answer: D 
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